A,B,C = 4ucna u, v nepeMeHHbIe
Au*2 + BuMvM + Cvr2 =0 [:vA2

Aur2/vA2 + BuMiNM +C =0
At"'2+Bt+C=0

sin?2 x - V2cos(2x - P/4)=1

sin2 x -V2(cos2x*V2/2 + sin2x*V2/2)=1

sSin2 X -cos2x - sin2x=1

sin2 x -2cos”2 x +1 -2sinx*cosx=1

sin2 x -2cos”2 x -2sinx*cosx=0 :cos”2x
sin*2x/cos2x -2 cos’2x/cos’2x - 2sinx*cosx/cos”2x=0
th2-2-2t=0

sinx/cosx =t

cosx =0

th2+2t-2=0
D=1+2=3
t1,2=1+-V3

tgx= 1+-V3
x=arctg(1+-V3) +Pk

sin”3 3x - 4sin*2 3x*cos3x + 3sin3x*cos”2 3x=0 : sin*3*x3

sin”*3 3x/sin*3*x3 - 4sin"2 3x*cos3x/sin*3*x3 + 93sin3x*cos*23x)/sin*3*x3=0
1 - 4cos3x/sin3x + 3*(cos3x/sin3x)*2=0

cos 3x/sin 3x =t

1-4t+3t72=0

3tr2-4t+1=0

t=1
t=V%4

tg3x=1
3x=P/4+Pk
x=P/12+Pk/3

tg 3x= "5
3x= arctg 5 + Pk
x= (arctg ¥5)/3 + Pk/3

(2sinxcosx - cos™2 x) / (2cosx - sinx) =0

(2sinxcosx - cos”2 x)=0
(2cosx - sinx) =0

2sinxcosx - cos”2 x=0
cosx(2sinx - cosx)=0
cosx=0

x =P/2+Pk

2sinx - cosx=0 :cosx
tgx=1/2

x=arctg1/2 +Pk

2cosx - sinx 1= 0

[MycTb 2cosX - sinx = 0 => sinx=2cosx

vV 2sinxcosx - cos”*2 x=0 podstavim

poluchitsa 3cos”2x=0 => cosx=0 a otsuda sinx=2cosx SiNX=0 ---- NeVOZmMosno




